Moto-All.ru
CIIMCOK IOETAJIEU N9 "GEAR CHANGE MECHANISM" TRIUMPH

STREET TRIPLE R

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY NIJId "GEAR CHANGE MECHANISM" TRIUMPH

STREET TRIPLE R

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2081740 CpoK IIOCTaBKH OT 27 OHEH GEAR CHANGE ASSY
3 T2080529 CpOK IIOCTaBKH OT 27 OHEH RUBBER, GEARCHANGE
ASSY
4 T2080532 CpoK IIOCTaBKu OT 27 gHeH SEAL,GEARCHANGE
. CLIP, WIRE, SOCKET
5 T2081666 CpOK 1ToCTaBKY OT 27 gHEH RETENTION
6 T2081742 CpoK IIOCTaBKH OT 27 gHEH ROD, GEAR CHANGE
7 T3350307 CpoK IIOCTaBKu OT 27 gHeH NUT, M6X1.0, BLACK, LH
8 T3350306 CpOK IIOCTaBKH OT 27 gHeH NUT, M6X1.0, BLACK
. SPARES ASSY, CLAMP
9 T2082031 CpoK IIOCTaBKu OT 27 gHeH LINKAGE
. BOLT,SHLD,M8 X
10 T3331612 CpOK II0CTaBKH OT 27 fHeH 1.25.SLV.ENC
. BOLT,LGE SKT
11 T3332066 CpoK IIOCTaBKH OT 27 gHeH HD,SHLD,M6X42.5
12 T1190142 Cpok nocTaBku oT 19 gHe# Gearchange Mechanism
Assembly
13 T1190999 Cpoxk nocTaBKu oT 19 fHe# Gearchange, Return Spring
14 T3500099 Cpok mocTasku ot 19 mHei Scﬁg‘gltip' External, 14mm
15 T3500044 CpOK 1ToCTaBKY OT 27 oHeH 'E' CLIP
. THRUST WASHER,
16 T3550134 CpoK IIOCTaBKH OT 27 gHeH 24 5X12X1.2
17 T1190003 CpOK IIOCTaBKHY OT 27 [HEH PIN,SPRING ABUTMENT
18 T1190207 CpOK IIOCTaBKH OT 27 gHEH KEEPER PLATE
. SCREW,CAP/HD,M6X1X10
19 T3051069 CpOK IIOCTaBKH OT 27 gHeH "ENC,RAW




